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QUESTION 1

Which statement describes the immutability of data on blockchain? 

A. Data can only be modified by an administrator 

B. It is not possible to modify business data through transactions 

C. No participant can tamper with a transaction after it has been recorded to the ledger. 

D. All data is encrypted using a one-way hashing algorithm. Therefore, changing stored data is impossible. 

Correct Answer: B 

 

QUESTION 2

What is the purpose of using pull requests to manage changes to a git repository? 

A. It supports code review and enhances collaboration. 

B. It is a faster way to update a repository than a direct push. 

C. It prevents developers from making different changes to the same file. 

D. It keeps change sets small so that they can be completed and tested quickly. 

Correct Answer: A 

 

QUESTION 3

To update an existing document in an IBM Cloudant database using the HTTP PUT method, which two JSON objects
are valid to be sent in the request? 
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A. Option A 

B. Option B 
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C. Option C 

D. Option D 

E. Option E 

Correct Answer: B 

 

QUESTION 4

What Quality of Service (QoS) can developers set on the published MQTT messages from their loT devices to the
Watson loT Platform so that a message is received exactly once? 

A. QoS 0 

B. QoS 1 

C. QoS 2 

D. QoS 3 

Correct Answer: C 

 

QUESTION 5

Studying analytics data in order to improve team outcomes occurs during which phase of the IBM Cloud Garage
Method? 

A. Code 

B. Learn 

C. Think 

D. Improve 

Correct Answer: B 

 

QUESTION 6

Why is automated application monitoring essential for every successful DevOps project? 

A. It is essential to how applications are maintained. 

B. It helps to scale applications when demand goes up or down. 

C. It works automatically and does not require constant maintenance. 

D. It is essential to ensure that the application is available and functioning within the required SLAs. 

Correct Answer: D 
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QUESTION 7

In IBM API Connect, a user is unable to subscribe to a billing Plan with a Product. How can the error be solved? 

A. Ensure that the correct version of Node.js is installed 

B. Enable or increase the permission level of cookies in the browser settings 

C. Close the already started instance of the API Designer in another command window 

D. Ensure that there are fewer than 25 instances in the IBM Cloud API Connect service 

Correct Answer: D 

 

QUESTION 8

What is used to allow granular access control at the bucket level in IBM Cloud Object Storage within an application in
IBM Cloud? 

A. App ID 

B. Federated SSO 

C. Platform API Keys 

D. Identity and Access Management 

Correct Answer: C 

 

QUESTION 9

Using Hyperledger Composer, which block of code correctly emits an event from a business network? 

C1000-007 PDF Dumps | C1000-007 VCE Dumps | C1000-007 Exam Questions                                5 / 8

https://www.pass2lead.com/c1000-007.html
https://www.pass2lead.com/c1000-007.html
https://www.pass2lead.com/c1000-007.html


https://www.pass2lead.com/c1000-007.html
2023 Latest pass2lead C1000-007 PDF and VCE dumps Download

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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QUESTION 10

In an Auto-Scaling policy definition, which field defines the interval of time to ignore other scaling requests after a scale
out has occurred? 

A. Breach duration 

B. Statistics Window 

C. Cooldown period for scaling in 

D. Cooldown period for scaling out 

Correct Answer: D 

 

QUESTION 11

Which statement is true regarding microservices? 

A. They are scaled as a group when greater performance is needed 

B. They are an architecture style based on loosely coupled applications 

C. They are able to overlap responsibilities to provide better availability 

D. They are designed with a focus on combining unrelated tasks in one process 

Correct Answer: B 

 

QUESTION 12

What is one difference between containers and virtual servers? 

A. Containers create a self-defined computer 

B. Containers provide hardware virtualization 

C. Containers share an operating system kernel 

D. Containers are created by using a hypervisor 

Correct Answer: C 

 

QUESTION 13

What are two features of Compose for Redis? 

A. Slow logs 
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B. SSL binding 

C. TLS encryption 

D. NoSQL deployment 

E. Continuous integration 

Correct Answer: BC 

 

QUESTION 14

What are the default phases of the IBM Continuous Delivery Toolchain? 

A. Think, Code, Build, Run 

B. Think. Code, Deliver, Run 

C. Think, Code, Build, Deliver 

D. Think, Code, Build. Deliver, Run 

Correct Answer: C 

 

QUESTION 15

Which statement describes how a Delivery Pipeline continuously builds and deploys an application? 

A. Builds run at regularly scheduled intervals and the pipeline automatically deploys the output 

B. It depends on which lifecycle phase in the toolchain contains the Delivery pipeline integration 

C. A DevOps engineer approves the transition actions from one pipeline phase to the next. 

D. A sequence of stages retrieve input and run jobs, such as builds, tests, and deployments 

Correct Answer: B 
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